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Q22. You want to define afield symbol that will be assigned to a character string. Which generic types can you use?

Note: There are 3 correct answers to this question
* Seguence

* Click

* Any table

* Any

Q23. What features are provided by the database interface?
There are 3 correct answers to this question.

Response:

* Database independence of application programs

* Conversion of Open SQL statements from ABAP statements into the corresponding database
* statements

* Syntax check of Native SQL commands

* Accessto SAP table buffers

* Data consistency check using foreign key relationships
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Q24. Which of the following enhancements calls a customer function module. There are 2 correct answers to this question.
* Business Add-in (BADISs)

* User exit

* Business Transaction event

* Customer exit

Q25. Which of the following structures is created when you use a table type to define one of its components?

Please choose the correct answer.

Response:

* Append structure
* Deep structure

* Hat structure

* Nested structure

Q26. For which of the following requirements can you implement a functional method? There are 2 correct answers to this question.
* A handler method for an event that has a returning parameter

* A factory method that returns an object reference

* A method to set an instance attribute with one importing parameter and no other parameters

* A private static helper method that returns a single value as the result of an algorithm

Q27. Which type of view uses an inner join in a search help?

Please choose the correct answer.

Response:

* Database view

* Maintenance view
* Help view

* Candidate key view

Q28. What happens when an authorization check fails?
Please choose the correct answer.
Response:

* The program is terminated.
* The system field SY-SUBRC is set to a value other than zero.

* A type E message is displayed.

* A CX_AUTH_FAILED type exception is raised.

Q29. Which ABAP statement can make an element visible that you statically defined asinvisible?
Please choose the correct answer.

Response:

* SCREEN-INVISIBLE=1

* SCREEN-ACTIVE=1
* SCREEN-ACTIVE=0
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* SCREEN-INVISIBLE=0

Q30. Which of the following statements regarding the event AT SELECTION-SCREEN ON HELP-REQUEST FOR <FIELD> is
correct?

* None of the above.

* Thisevent will display self-defined (F1) help for the input field programmed in the event block and will override any help
possibly defined in the ABAP Dictionary for the field.

* This event will display (F1) help for the input field on the selection screen.

Q31. Each work process is assigned atype of task that can be performed. Which statements related to this are true?

Select al that apply.

*All work processes communicate with the dispatcher.

*All work processes communicate with the database.

* A work process can communicate directly with an external system through & #8216;-& #3216; a Remote Function Call
* |t is possible to have multiple enqueue work processes on an SAP NetWeaver Application Server.

* |t is possible to have multiple spool work processes on an ABAP application & #8216;-& #3216; server

* All work processes have the same structure.

* To switch awork process type requires arestart of the SAP NetWeaver ASfor *-I| ABAR

Q32. You are asked to enhance the GUI status of an SAP standard application. How do you identify which menu exit function code
you can use?

* |t startswith aplus (+)

* |t startswith adollar sign ($)

* |t starts with an ampersand (&)

* |t starts with an asterisk (*)

Q33. Which of the following statements correctly define a data object with the data type of dataelement s conn_id?

Note: There are 3 correct answers to this question

* PARAMETER pa_id TYPE s_conn_id

* DATA: gv_id LIKE s conn_id

* DATA:gv_id TYPEREFTO s conn _id

* DATA:gv_id TYPE s conn _id

* CONSTANTSgc id TYPE s _conn_id VALUE &#8216;04008& #8217;

Q34. Which of the following can you do with the SAP code inspector?

Please choose the correct answer.

Response:

* Monitor runtime behavior
* Monitor background tasks
* Perform static code checks
* Analyze runtime data.

Q35. The ALV isentirely implemented using ABAP Objects.

* Fadse
* True
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Q36. You write areport that displays mass datain atable. You decide to use the ALV Grid control (classCL_GUI_ALV_GRID)
instead of aclassical list display with WRITE statements.

Which of the following functions can you offer to the user without doing any specific programming There are 2 correct answers to
this question Response:;

* Display details by double-clicking on arow

* Change column width and sequence

* Sort and filter the data by any column

* Convert currency amount columns

Q37. How do you define an internal table in a private method of a class? There are 3 correct answers to this question.
* DATA It_itab TYPE TABLE OF <Dictionary Table > WITH HEADER LINE

* DATA It_itabTYPE <Table Type>

* DATA It_itab TYPE <Dictionary Table>

* DATA It_itab TYPE TABLE OF <Structure Type>

* DATA It_itab TYPE TABLE OF < Dictionary Table >

Q38. Beginning with SAP NetWeaver 7.40, if SAP HANA (an in-memory database) is being used as a database, then table buffering
isno longer effective and is therefore not possible.

* True

* Fase

Q39. How would you find out if an application program offers a program exit?

Please select all the correct answers that apply.

Response:

* Search for the character string CUSTOMER-FUNCTION

* Use the Repository Information System

* Usethe Application Hierarchy

* Look for acustomer exit in the SAP reference IMG within an application area

Q40. Each work process is assigned a type of task that can be performed. Which statements related to this are true?

There are 3 correct answers to this question.

Response:

* To switch awork process type requires arestart of the SAP NetWeaver Application Server ABAP.
* All work processes have the same structure.

* All work processes communicate with the database.

* All work processes communicate with the dispatcher.

* A work process can communicate directly with an external system through a Remote Function Call.
* |t is possible to have multiple enqueue work processes on an SAP NetWeaver Application Server.

* |t is possible to have multiple spool work processes on an ABAP application server.
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